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L+ \/5) and (1, 1 _2\/5) by e; and e, respectively. Then we have

(d) Denote (1,

1
0,1) = %(81 —e3).

[t follows that

T"(O, 1) =T" (%(61 - 62)) = %(T”el — T"€2)

1+v5) 1-v5\"
5 €1 — 5 €.

By (a) and comparing the first component, we deduce that

1

VB

1 [(1+v8) [1-v5)\"
Fo L +v5) V5 ' @®)
NG 2 2
(e) Note that v/5 > 2, we have
1]1-v5]" 1 2 " 1 2 1
2 \/g‘z_‘ g e iy (9)
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Moreover, F, € Z is easily shown by induction. Combining (8) and (9), it follows that
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By F,, € 7Z, we deduce that the Fibonacci number F, is the integer that is closest to

L1+x/5n
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